th& Z1™ellA BC 9 deol=?

® 13cm @ 14cm @15cm @ 16cm ® 17cm

~&B

(A7} FEo|a,
AB:AE=AC:AD=3:20|E2
AABC O AED (SAS #-2)
3:2=BC:10

BC = 15(cm)




2.

< AbthE]&E ABCD o4 AD//BC, AO : OC = 1 : 2 0|1
ADOC = 12cm? o]t} Atha]&E ABCD 9] Yol&=?

@ 32cm? @ 48cm? ®)54cm?

@ 63cm? ® 72cm?

D ~
1:2=AA0D: 12cm? , AAOD = 6cm?

ADOC = AAOB = 12cm? |, 1: 2 = 12cm? : ABOC , ABOC =
24cm?

OABCD = 6 + 12 + 12 + 24 = 54( cm?)
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o2 2 H 1E Bt €Y W o] 5RA

/IAB =50° ¢ off, /x9] 37]&7

50

O 120° @ 130° @140° @ 150°

® 160°

~&B

100° o]t}

AABC 9] Yz}te] 7.7]9] §ho] 180°0] B
/BAC + 2 e +2x = 180°°]t}.

e+ Xx=40°

AIBC 9] Wzte] 3.7]9] o] 180° 0] B2
/x+ e+ x = 180°°|th,

. /x = 140°

A 171 AABC 9] YAHo]B2 /IAB = AJACO|E= /BAC =




Ch 2 oA x 9 gh2?

@ 5 @ 6 ®7 @)8 ® 9

(A7} B,
AB:AE=AC:AD=2:10]22
AABC & AAED

2:1=x:4

SLx=8




5.

thg 89 Althel® ABCD = AD//BC, A0 : OC = 1:3 0%
AABD = 20cm® € o, ADBC 2] Yo]+&?

A D
(0)
B C
® 30cm? @ 45cm? @ 60cm?
@ 75cm? ® 90cm?

AABO : AAOD =3:1, AAOB = 15cm? |
1:3 = 15cm? : AOBC , AOBC = 45cm? |
. AABC = ADBC = AAOB + AOBC = 15 + 45 = 60(cm?)




6. o= I™HAA x o] dole?

® 5cm @ 6cm ® 8cm @ 9cm ®)10cm

~&B

(A7} FEo|a,
AB:AE=AC:AD=2:10°]E2
AABC 0 AAED (SAS B2)
AB:AE=BC:DE, 10:5=20:DE
- x=DE = 10(cm)
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@ /E=80° © /C="70°
© S2H]+=5:3 0|t} ® AD =10

® EF =7

o

o

02 o2
o

v v Vv vvy VY vVvy
0
R

0
it

w O © Q

@ OABCD O oEFGH ©]B2 A E of tj2et= H2 A A o]
th(O)
© DABCD ¢ OEFGH o2 2 /C °f T

oh(O)
©BC:FG=15:9=5:3.(0)
@ HeH75:30|E2 AD:EH =5:3=0: 6, TehA]
AD =10 °]t}. (O)

@® oABCDCOOEFGH °]E2 AB: EF =5:3, 12 : EF =
5:3

5 x EF = 36 ot2tA] EF = ?;—6 = 7.2 °olth (x)




th2 1EellA A 1 aABC ©] YiAolth. AELBC € W, /DAE 9
a7e?

25° n

® 15° @ 17° ® 18° @20° ® 22°

~&B ~

/A = 180° — (25° + 65°) = 90°
(DAC = % X 90° = 45°

(EAC = 25° o|B&2
- .DAE = 45° — 25° = 20°




9. the T¥elA A 17h aABCO WAL W x = ( )° oItk
(el FEe 52 Fokofel.

A
T
o/ 25°
B C
> =
> HE 20

A 171 aABC O] YiAlol B2
/x+45°4+25°=90°
 /x=20°




10. t©h& 1304 Atte]E ABCD = AD//BC,A0: CO=1:2°]1
Arete]E ABCD 9] Wol7k 27cm? &€ ®l, AABO 9] Hol=?

A D
9)
B C
@ 6cm? @ 7cm? ® 8cm?
@ 9cm? ® 10cm?

B ~
OABCD = AAOD + aDOC + AOBC + aABO ©|t}.

AAOD 9 HolE a2l 5HH, 1: 2 =a: ADOC, ADOC = 2a
ADOC = AABO =2a,1:2=2a: ABOC, ABOC = 4a
OABCD = a + 2a + 2a + 4a = 9a = 27cm? , a = 3cm?

. AABO = 2a = 6cm?




